8 7 6 5 4 3 2 1

NOTES CONTINUED: REV. DATE DCN # BOM #

5. BAG AND TAG PARTS SEPARATELY WITH THEIR DRAWING PART NUMBER, vl 02 SEP 2010 E1000383-v1 E1000459-v1
%@E@sﬁgﬁéfﬁé’éﬁ ROR THIE FIRaT ARTIGLE AND PROCEED oo v2 03 FEB 2011 E1100080-v1 E1000459-v2

EXAMPLE:
DXXXXXXX-vY

S/N-001
6. APPROXIMATE WEIGHT = .652 LB. [.296 KG.]
{7y ELECTRO-POLISH ADJUSTING SCREWS INDICATED PER LIGO
SPECIFICATION E0900364-v7, SECTION 5.2.2.

(&)
(=)
2

T (b
(@, \‘@

@
0
\\

\

-

SCREW, SOCKET SET, OVAL POINT, #10-32
_ UNC-2A X 0.375 LONG 300 SSTL 2 )

oo}

SCREW, SOCKET SET, OVAL POINT, #6-32 UNC-
- 2A X025 LONG 300 SSTL ] ]

SCREW, SOCKET HEAD CAP, #4-40 UNC-2A X
- 0.875 LONG 300 SSTL

9002715 (McM-Carr) COMPRESSION SPRING 302 SSTL
or equiv .180 O.D., .018 W.D., .50 L, 5.83#/IN

FLAT WASHER

SCREW, SOCKET HEAD CAP, #10-32 UNF-2A X
MS16996-10 0.5 LONG 300 SSTL

WM |NMN]jOV]O|IDN| M

3
3
MS 15795-846 (#10) MS 15795 FLAT WASHERS 300 SSTL 2
2
3

TMS TELESCOPE
D1100114 SECONDARY MIRROR CLAMP 6061-T6

N W | M| OH|O| N |0 |0

3
3
2
2
0
0

ETM TELESCOPE SECONDARY
E0200349 PARABOLIC MIRROR, ADLIGO ZERODUR ‘ ]

>

| D1002211 aLIGO TMS FLEXABLE SEC MIRROR MOUNT 6061-T6 | 0 |

D1002210_aLIGO_TMS FLEXABLE SEC MIRROR MT. ASSY., PART PDM REV: X-056, DRAWING PDM REV: X-026

ITEM . Default/| SPARE | TOTAL
| Y| PART NUMBER DESCRIPTION Material | PG| STARE | TS
NGTES AND TOLERANCES: (UNLESS OTHERWISE SPECIFIED) CALIFORNIA INSTITUTE OF TECHNOLOGY ~ PART NAME
DIMENSIONS ARE IN INCHES R NS E s SME TS 1994, LIGO massachusers instirute of TechNoogY  ALIGO TMS FLEXABLE SEC MIRROR MT. ASSY
' TOLERANCES: 5 ALL MACHIING FLUIDS MUST BE FULLY SYNTHETIC, FULLY WATER SOLUBLE SYSTEM SUB-SYSTEM  DESIGNER | K. MAILAND | 08/15/2010 | SIZE DWG. NO. REV.
x5 20s AND FREE OF SULFUR, SILICONE, AND CHLORINE. LIGO AQOS  DRAFER | mmLER | 08/1772010 B D '| 0022] O V2
ANGULAR 1.0° MATERIAL FINSH NEXT ASSY CHECKER
: N/A N/A pinch D1001600 APPROVAL SCALE: 1] | PROJECTION: SHEET 1 OF 3

8 7 6 5 4 3 2 1



o)

N >

D1002210_aLIGO_TMS FLEXABLE SEC MIRROR MT. ASSY., PART PDM REV: X-056, DRAWING PDM REV: X-026

VA ]

/7.
=
77

000 ,/7
@ '0'0't|
Sl

X

i

REF: 2.0° TOTAL

| SO

1

SECTION B-B a

LIGO CALIFORNIA INSTITUTE OF TECHNOLOGY
MASSACHUSETTS INSTITUTE OF TECHNOLOGY

SIZE DWG. NO. REV.
B D1002210 V2
SCALE: 1]  PROJECTION: )T | SHEET20OF3

1



D
C
REF:
SCREW HEAD FLUSH WITH CLAMP FACE
COMPRESSIVE FORCE 1 Lb
3 JSPROARARAARP! 3 CLAMPS =3 Lb
.
2
z
<
5
S8
E
:
2 DETAIL C
S SCALE4: 1
9
s
y
:
u A
g
O|
(_D CALIFORNIA INSTITUTE OF TECHNOLOGY
_Oll LiGo MASSACHUSETTS INSTITUTE OF TECHNOLOGY
: B DI002210 V2
g SCALE: g | PROJECTION: @-{T | SHEET3OF3

8 7 6 5 4 3 2 1



	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View6
	Section View A-A
	Section View B-B

	Sheet3
	Detail View C (4 : 1)


